Ef-TEBRRAREE-ER AF0546 A8 AR
e N HEERE EAARRE
Ft+h — R X8 BEAH
mRA EEELH-E  |FH/AR
*7 GRKE) |REmEEHEE (20
(TMKRE) |LIEREEREE (211
FEREEHEE |[B)IFE=8.8, M:E)IFE=11.1, H)F#5=8.7
— BHaEg W) =10, 9.1), #EJIFE=(10, 7.9)
EEMNSATR |\ mikRimm)
2] - . fEE 20m/s
A FRRRE fi: 20m/s
= - . BEE 20m/s EEHES
RS FERE B 20m/s EEES
AE BEEDRS 1205 FE E D ES10cm
KR HEES 2.5m
= 80 B 3.0m
X7 cEmEiEgEE [18
TIENEEHEE (128
iSRS ENEE [BIRE=7, #:2)7E=88, #ME)IFH=69
e * EFNFRE=(10, 13.8), #)IRE=(8, 7), #E]IIFtig=(6, 8.2),
ok wase @) I|Fis= (10, 5.3) " "
FETE ATk T #R
gy yee #)IKk % (]
W . fEE 10m/s
SR A T RE B T0m/s
= o . &L 10m/s EFHES
RE FHRE B Tom/s BEHES
AE BEEDRS 12651 E DES3cm
KR e 1.5m
AR =i AL 2.5m
ES EEZICIYBELNTEINDEE
BE
o o N R 100m
p-—+ 1Rig B 500m
BrIR &/INBEA0% T, ENEE65%
BEEDFES100cm LT, ZOWTFhh
P 1 RUBS CULEDIFR
= 2 IESEZFICLDER
3 EEDFERI0cm E
&8 B FELYTEHTEMNICULBENEMNIBHEE, SSI2BUEEETESNGES
o L8 FHTRIESBEMN-5CUT
= 11B20BETHEFE. 3A20A LIFNDIKTE RIEKIEICLUT
BEK-EE KEZH-IEHROEHT T, [UB-2°C~2°C

(5o BR RO R P Rl A R TG 2R

1 E#Faﬁl"ﬁ% [110mm

NREREEY AEFEEY OMRAShEICLIREBEERLTVET,



